[ normalized x? probability |

E e 11068
. . : 1.208
1073 i- = o 0.04

107

107

o107® o +W)| i 1 i
It T I I I I I [
14 o Ml :ll I L MGl
0.9F - -1 ¥~ ik i Mt i
It i I i I It [
B LI =||H=H|= =H| \H I
0.95 i i i i i i [
2 4 6 8 10 12 14 16 18 20 0 010203040 6070 .
X2 rOb()(z)
e DQM_XiMinus_original_lowpt
e DQM_XiMinus_newbranch_lowpt
wmmm DQM_XiMinus_original_lowpt_pLess
e DQM_XiMinus_newbranch_lowpt_pLess
A5
—
°
c
<
>
\

Ratio

< X2/ ndf >
< X2/ ndf >
=
00

i
T T[T [T [T T I [T TIT T

Ratio
Ratio

10 1 1 10? ? 107 1072 107t
0 0 0 F}TO 0 AR(track, jet?



	Contents
	Page 1


